SCHNEIDER INVOICE #4584 PAVING LLC DATE: 8-27-2024

25530 CR 62 ½
Greeley, Co. 80631

Office: 970-350-0151

Direct: 970-396-1535

Stephanie@SchneiderPaving.com

Town of Garden City 621 27<sup>th</sup> St. Rd. Garden City, Co. 80631

Attn: Brett 970-351-0041

brett@townofgardencity.com

1)	Mobilization/Demolition	\$17,500.00
2)	Traffic control	\$33,000.00
3)	Erosion control	\$4,500.00
4)	Vacuum truck/Potholing	\$4,500.00
5)	Construction Staking	\$8,000.00

6) 6<sup>th</sup> Ave.- tons used 437.62 @ \$210.00 per ton (additional 10.00 charge due to pulling mix from Fort Collins plant). \$91,900.20

7) Same

\$22,250.00

8) 26<sup>th</sup> St.- tons used 247.51 @ \$210.00 per ton (additional 10.00 charge due to pulling mix from Fort Collins plant). \$51,977.10

9) Same

\$12,750.00

10) 27<sup>th</sup> St. Pl-tons used 270 @ \$195.00 per ton.

\$52,675.00

11) Same

\$9,137.50

12) 9<sup>th</sup> Ave.- tons used 620 @ \$195.00 per ton. \$120,900.00

Additional area on East side of 9<sup>th</sup> Ave. tons used 143.87 @ \$195.00 per ton. \$28,054.65

Dig out and prep work.

\$3,000.00

13) Same

\$23,757.50

14) Same

\$635.00

15) Same

\$2,500.00

Additional patching in parking lot and in alleyway off 9<sup>th</sup>. \$5,500.00

Total: \$492,536.95

## Concrete:

Remove and replace curb and gutter 381 linear feet @ \$50.00 per foot. \$19,050.00

Remove and replace sidewalk 168 square feet @ \$15.00 per foot. \$2,520.00

Remove and replace 3' V-pan 35 linear feet @ \$57.00 per foot. \$1,995.00

Remove and replace Alley approach 158 square feet @ \$30.00 per foot. \$4,740.00

Remove and replace cross pan 126 square feet @ \$30.00 per foot. \$3,780.00

Remove and replace driveway approach 656 square feet @ \$30.00 per foot. \$19,680.00

Remove and replace Handicap ramp.

\$5.000.00

Lower inlet \$1,500.00

Inlet Apron \$1,500.00

3-manholes lower and raise @ \$750.00 each

\$2,250.00

5-water valves lower and raise @ \$550.00 each \$2,750.00

Total: \$64,765.00